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Part I 88—3#B4 Listening Comprehension ¥ J7 3 ##

Section A Conversations 37 i&

Directions: In this section , you will hear nine short conversations
between two speakers. At the end of each conversation, a third
voice will ask a question about what was said . Both the conversa-
tion and the question will be spoken only once. Choose the best an-
swer from the four choices A, B, C and D by marking the corre-
sponding letter on the ANSWER SHEET with a single line through

the center .

1. M : Jane’s husband is quite friendly and considerate. - -
W : Yes, just the opposite of her father.
Q : What do you know about Jane’s {father?
A. easy-going  B. unfriendly
C. greedy D. generous
EHER:B
2. M : The examination is on the first half of the book.
W : Then we’ll have to finish Chapter 15.
Q : How far have they come in their studies?
A. They are learning 15th Chapter.
B. They have not even started with Chapter 15.
C. She will renew the book.



D. She hasn’t decided yet.
EREXR:B

Section B Passages 38 3

Directions: In this section , you will hear two short passages. At
the end of each passage, you will hear some questions. Both the
passage and the question will be spoken only once. After you hear
one question , you must choose the best answer-from the four choices
A, B, Cand D by marking the corresponding-letter on the AN-
SWER SHEET with a single line through the center.

Balloons have been used for sport for about ;ne hundred years.
There are two kinds of sport balloons: gas balloons and hot air bal-
loons. Hot air balloons are safer than gas balloons, which may catch
fire. Hot air balloons are preferred by most balloonists in the United
States because of their safety. They are also cheaper, and easier to
manage than gas balloons. Despite the ease of operating a balloon,
pilots must watch the weather carefully. Sport balloon flights are
best early in the morning, or late in the afternoon, when the wind is
light. Over the years, balloonists have tried unsuccessfully to cross
the Atlantic Ocean. It wasn’t until 1978 that three American bal-
loonists succeeded. Their voyage captured the imagination of the

whole world.

1. For about how many years have balloons been used for sports?
A. 197 '
B. 100
C. 78
D. 1000
. 6 .



2. What is the main reason that most balloonists use hot air
balloons? . .
A. They are safer.
B. They are larger.
C. They are easier to manage.
D. They are lighter.
3. At what time of the day do most balloon flights take place?
A. Only in the morning.
B. Only in the afternoon.
C. In the early morning or the late afternoon.
D. In the late morning or the early afternoon.
4. What would be ideal weather for flying a balloon?
A. A hot day with no wind. |
B. A very windy day.
C. A clear day with a little wind.
D. A warm, rainy day.
5. Who finally succeeded in crossing the Atlantic in a balloon?
A. A single American.
B. A sportsman.
C. A weatherman.
D. Three Americans.
FHER:1.B 2.A 3.C 4.C 5.D

Section C Spot Dictation W 5iNZ

Directions: In this section you will hear a passage three times. The
passage is printed on the ANSWER SHEET with some words miss-
ing. You are to fill in the blanks with what you hear . First, the
whole passage will be read at normal speed for you to get a general

idea of it. Then, in the second reading , it will be read sentence
« 7 .



by sentence , or phrase by phrase , with intervals of 15—20 seconds
in which you can write down the missing parts. The last reading

will be read at normal speed again for you to check your work .

One of the greatest advances in modern technology has been the
invention of computers. They are (1) in industry and
in universities, and the time has come when ordinary people can use
them as well. Computers are (2) extremely complicat-

ed work in all branches of learning. They can solve the most com-

plex mathematical problems or (3) . Because they

work accurately and at high speeds, (4) years of hard

work. This whole process by which machines (5) has
1

been called automation:

EHRER:

1. already widely used

2. capable of doing '

3. put thousands of unrelated facts in order
4. they save research workers

5. can be used to work for us

Part I1 5 %4> Vocabulary &L

Section A
Directions: In this section , there are ten sentences with one word or
phrase underlined each . Choose one of the four choices marked A,
B, C and D that best keeps the meaning of the sentence if it:1s sub-
stituted for the underlined word . Then mark out your choice on the
ANSWER SHEET with a single line through the center .

.8 -



1. As working hours tend to get shorter and shorter, people should

learn how to spend their increased leisure time in some satisfying

way.
A. longer hours B. more chance
C. free time D. happy time
2. The energy companies launched urgent studies of the Arctic envi-
ronment.
A. made B. stressed
C. moved D. started

3. Establishment of a sound insurance system is essential for deepen-

ing economic reforms.

A. accurate B. healthy
C. undisturbed D. safe
4. The workers at large approved of the government’s policy.
A. mostly B. freely
C. happily D. angrily

5. It would take Mary some time to get over the grief at her
husband’s death.
A. overcome B. do without
C. pass ~ . . D. deal with

E®%E%:1.C 2.D 3.B 4. A 5 A

Section-B. -~ - ‘ ~ S : NP
Directions: There are ten incomplete sentences in this section . For
each sentence there-are four choices marked A, B, Cand D. Choose
the one answer that best-completesthe sentence . Then mark the cor-:
responding letter on the ANSWER SHEET with a single ‘line
through the center.

.9 .



. He was admittance to the very formal party for not be-
ing dressed properly.

A. unnoticed B. ignored

C. denied D. rejected

. Nowadays advertising costs are no longer in reasonable,

to the total cost of the product.

A. proportion B. connection
C. reaction D. relation
. He has not the idea of the problems involved.
A. worst ‘ B. faintest
C. most D. weakest
. Many local authorities are opposed to the introduction

of comprehensive schooling.

A. strangely : B. strictly
C. severely D. sharply
. I could see a car in the distance, but I couldn’t what

color it was.

A. see through B. make out -
C. look out ) D. take in
E®%&%:1.C 2.A 3.B 4D 5.B

Part III =54 Reading Comprehension FliXEHiK

Directions: There are 6 passages in this part. Each passage.is fol:

lowed by some questions or unfinished statements. For each of them

there are four choices markéd A, B, Cand D. You shquld.-decide

on the best choice and mark the corresponding letter on the ANWER

.10.



SHEET with a single line through the center .
o
Passage One ¥ —&

In England recently three foreign gentlemen approached a bus
stop. They studied the information on the sign attached to the con-
crete post and decided which bus to take. About five minutes later
the bus they wanted came along. They prepared to board it. Sud-
denly there was a clamor behind them. People rushed onto the bus
and tried to push them out of the way. Someone shouted insulting
remarks about foreigners. The three foreign gentlemen looked puz-
zled and embarrassed. No one had told them about the British cus-
tom of queuing for a bus. ,

Learning the language of a country isn't enough. If you want to
ensure a pleasant visit, find out as much as possible about the man-
ners and customs of your hosts. A visitor to India would do well to
remember that people there consider it impolite to use the left hand
for passing food at table. The left hand is supposed to be used for
washing yourself. Also in India, a shake of the head is a gesture that

- signifies agreement or acceptance. Nodding your head when offered
a drink in Bulgaria is likely to leave you thirsty. In that country you
shake your head to signify “yes” — a nod indicates “no”. Arabs are
known for their great hospitality. At a meal in countries on the Ara-
bic Peninsula, you will find that any drinking vessel is repeatedly re-
filled as soon as you drain it. The way to indicate you have enough is
to take the cup or glass in your hand and give it a little shake from
side to side or place your hand over the top.

In Europe it is quite usual to cross your legs when sittingtalk-
ing to someone even at an important meeting. Doing this. when

meeting an important person in Thailand, however, could cause of-
« 11



fense. It is considered too informal an attitude for such an occasion.

Also when in Thailand avoid, touching the head of an adult — it’s

just not done.

1. Why did someone at ti‘le bus stop shout insulting remarks about
the three foreigners?
A. They had been rude and impolite to that person.

They had tried to push that person out of the way.

They had not waited in a line to get on a bus.

ocow

They did not know the language well enough.
2. In India the left hand is generally considered to be used for
. passing food at table

. washing one’s body
. shaking hands

o o w >

. offering drinks to guests

3. Which of the following statements is true according to the pas-
sage?
A. In Bulgaria, nodding one’s head is a sign of agreement..
B. In Bulgaria, shaking your head signifies acceptance.
C. Your Arabic host won't refill your cup if you don’t insist.
D. In countries on the Arabic Peninsula you must shake your

‘head to signify “yes”.

4. The sentence “...it’s just not done” here means-that-no one in
Thailand
A. has ever done it
.12 -



